Table 1:

SchoolName Area Speciality UserName

Schooll Areal Specl John

School2 Area2 Spec2 Ron

School3 Area3 Spec3 Max

Table 2:

User_Name Mark1 Mark2 Total

John 10 10 20

Ron 20 10 30

Max 30 10 40

Current output:

SchoolName Area Speciality UserName User_Name | Markl | Mark2 | Total

Schooll Areal Specl John

School2 Area2 Spec2 Ron

School3 Area3 Spec3 Max
John 10 10 20
Ron 20 10 30
Max 30 10 40

Expected Output

SchoolName Area Speciality UserName Markl | Mark2 | Total

Schooll Areal Specl John 10 10 20

School2 Area2 Spec2 Ron 20 10 30

School3 Area3 Spec3 Max 30 10 40



